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HEMITE

l/;}b;} 1/&‘);{/2 bgm l/!gm LAJLS LAJL6 B LH=E EEH=E E
I T I EnlEl = I I
= F R A i LA FEREHLRE HEREHIEE
ERHBETIE = 1 1
TI
ELT = 1 1
HEAl = 1 1
EX m3 315.00 320.0
CB210100 Ny ILUFE0.80m3. B TA4L. BEEWEL| m3 315.00 320.0
L miE
it m3 1.00 0.0
CB210610 Bt 2 ANt TOREH m3 1.00 0.0
TRNER m3 315.00 320.0
CB210110 BTN BERRI0tTER - L T) m3 315.00 320.0
HEMBMET = 1 1
SERMET = 1 1
E AL IUY)—MTF A77 AN ) EEEERR . t=25cmEL TR m 14.00 14.0
CB430510 £ %5 hin L) m 14.00 14.0
SHIERRFERI : 39— b+T A7 IR
£ 2 hfn B V) —b+T7 A77 N ) EEEERR ., t=20cm m2 | 1050.00] 1050.0
CB430310 m2 | 1050.00] 1050.0
SHEERRFER : 2V)Y—b+T A7 b
L R R t=Tcm m2 270.00 270.0
CB430310 £ 2% hin B m2 270.00 270.0
REERRTER  TAT7VE
AszRE L=3.5km m3 7450 75.0
CB227010 RIE m3 74.50 75.0
ns t 175.10 175.0
ConXiZ ik L=10.9km m3 210.00 210.0
CB227010 B m3 210.00 210.0
w5 t 493.50 494.0
WMET = 1 1
HET = 1 1
Ed OBAEFHEAS13F) t= 3cm m2 | 132430 1320.0
CB410260 FREGEEE-KEE) m2 | 132430 13200
FEHEE:30mm
EHIES :3.0mlE
HH - OBEFHEAS1F)
BEEMPIELE PK-4
= QB AZHEAs13) t= 4cm m2 | 1324.30] 13200
CB410260 FREGEEE-RKE) m2 | 132430 13200
FEHEE:40mm
EHIES :3.0mlE
T QBEEFHEAS(3I)
BEEMPIELE PK-3
LB HIERAERAM-40) t=12cm m2 | 104540 1050.0
CB410040 L ERRAE (EE - BB EB) m2 | 104540 1050.0
AR R SR R (M-40)
EEX:120mm
T B BAERARC-40)  t=12cm m2 | 104540 1050.0
CB410030 TRERE (EE- R m2 | 104540/ 1050.0
FEHEE:120mm
M BERARRC-40)




EMRITE

l/gl):l,)\ uagz l/géljfa I/%;JIJA LAJL5 LAJL6 o L= FEH=E s
IERXS I 1 A > e =
s b TEREFLEE HERE T IEE
A LIS BREERRD t=24cm m2 | 104540 1050.0
CB410030 T B (EE - BREAR) m2 | 104540 1050.0
EEX:240mm
HH - RERD

XE#HRT Y 1 1
XEHFT = 1 1
AR X ENfR R EHRR S ES HKESERDOFE] m 483.80 484.0
E215m ZmEIomm B HARE | m 483.80 484.0

WB821210 REREE
FiLig REEAHRE S, BES Bk EROE E] m 14.30 14.0
F#45cm EmE1omm E HARE | m 14.30 14.0

WB821210 EEREE
S E R EHRRE S ES HKESERDOFE] m 66.50 67.0
E245m EmEIOMm B HARE | m 66.50 67.0

WB821210 REREE
FEI—Y REAHRRE S BES Bk EROE E] m 99.10 99.0
ER30cm FERE1.0mm £ HAXMKE m 99.10 99.0

WB821210 X EfREEE
=ZeE = 1 1
REEES = 1 1
REBFES A 38.00 38.0
RBEFEZHEEB A 38.00 38.0




IT £ 5 =
I | A I B 8
T 2 1.0
#EHI m 315.0
BE  |BE2ANBTOEH 315.0
E il 315.0




(]

Al &t g ® - B K #

T

RE| SEIFTEEICLY
V = 1050.00 x 0.30

315.0 320. 00 m3

VZ 1

315.0 320. 00 m3




 GHAERRMNE T &£

i %

&l WA ]H® B =3
SHERBEL = 1.0
aVHY-pT727700 b
SHEERD LI |t=25cmLL T m 14.0

IVHY-p+TRI70H
SHEERRIERE  |t=20cmBA T m? 1050. 0
TA77lb b
SHIERREERS  |t=5cm m? 270.0
AsEREHE - A5 |EH m® 74.5
msy t 175.1
CoBR-EHE - A5y |E M m® 210.0
msy t 493.5




SRR T

E A i OFE £ - B X H =
HERBEL
£ %5 iR U R t=15cmLLF
L = 6.60 + 6.90 = 13.50 14.00 m
SHEE AR AR t=25cm
(Co+As (A" -)) = 1050.00 1050. 00 m?
AL R AR t=Tcm
(As) A = 1320 — 1050.00 = 270.00 270. 00 m
BOEME - W H
Bl Vo= (1320.0— 1050.00 + 258.00 x 0.30 x ## x 0.07 = 29. 74 30. 00 m®
1050.00 - 258.00 x 0.30 x ## x 0.05 = 44.76 45.00 m°
T = 74. 50 75.00 m’
msr W o= 7450 x  2.35 m/t = 175.08 175.00 t
Coff i y e t=20cm
(15=t<35cm) SET(Z LY = 1050.00 1050. 00 m?
BOEME - W H
E#E| vV = 1050.00 x 0.20 = 210.00 210. 00 m®
msr W o= 210,00 x  2.35 m/t = 493.50 494.00 t




BET £ 3
7 Al o Al B % B =
HET = 1.0
OFEFRAEAs (13F)
xBTL t= 3cm m 1324.3
QBEEFEHEAs (13)
=BT t= 4cm m 1324. 3
AR (M-40)
LERET t=12cm m 1045. 4
BAE#®A (RC-40)
TERET t=12cm 1045. 4
BRAR AR
HEIHIBELT | t=24cm 1045 4




& Al Hi =1 = & # =
ShET
REI| OBXFHEAs(13F) t= 3cm
BEtEEICLY 1324.3 1320. 00 m?
REI| QBAFHEAs(13) t= 4dcm
BEtEEICLY 1324.3 1320. 00 m?
EERAET| HIARAE M-40) t=12cm
BEtEEICLY 1045. 4 1050. 00 m?
TEBR®RI| BEMRA (RC-40) t=12cm
BEtEEICLY 1045. 4 1050. 00 m?
FEEMMBEBET| HREERAA t=24cm
BEtEEICLY 1045. 4 1050. 00 m?




= Vvl
&2 : i1 A5
i e L ' o R \, 15
BOBE WP @ Pk BB BF m | VWi kB

NO, 0+2. 0 6. 60 6. 60
SP, 1 4. 200 5.00 5. 80 24. 30 4. 200 4. 00 5. 30 22.20
No, 1 13. 800 5.00 5. 00 69. 00 13. 800 4. 00 4.00 55. 20
No, 2 20. 000 4.90 4. 95 99. 00 20. 000 3. 90 3. 95 79. 00
No, 3 20. 000 5. 30 5.10 102. 00 20. 000 4. 30 4.10 82.00
No, 4 20. 000 3. 80 4. 55 91. 00 20. 000 2. 80 3. 55 71.00
No, b 20. 000 3. 80 3. 80 76. 00 20. 000 2. 60 2.70 54. 00
No, 6 20. 000 4. 60 4. 20 84. 00 20. 000 3. 40 3. 00 60. 00
No, 7 20. 000 4.50 4. 55 91. 00 20. 000 3. 30 3. 35 67.00
No, 8 20. 000 5.00 4.75 95. 00 20. 000 3. 90 3. 65 73.00
No, 9 20. 000 5.20 5.10 102. 00 20. 000 4. 10 4.00 80. 00
No, 10 20. 000 5. 80 5. 50 110. 00 20. 000 4.70 4. 40 88. 00
No, 11 20. 000 6. 00 5.90 118. 00 20. 000 4. 90 4. 80 96. 00
No, 12 20. 000 6.70 6. 35 127. 00 20. 000 5. 60 5.25 105. 00
No, 13 20. 000 6. 90 6. 80 136. 00 20. 000 5.70 5. 65 113. 00

2 7 258. 000 1, 324. 30 258. 000 1, 045. 40

o 7 258. 000 1, 320. 00 258. 000 1, 050. 00




XERT &

%

Bl | RO® B 2
XE#RT = 1.0
CAN kG E#15cm  t=1. 5cm m 483. 8
F1L4R E#R45cm  t=1. Ocm m 14.3
HE  [E#R45em  t=1. Ocm m 66. 5
FEY—Y  |E#30cm  t=1.0cm m 99. 1




B Al i g = B X #® B
XEHRT
AMAHR

X R | NO. 0+2. 0~NO. 13
S5, W=16em, t=1.5mn| L = 223.84 + 29.47 + 89.40 + 122.37

+ 7.84 + 10.85 = 483.77 484. 00
15 11 AR X XY

A X T R 2.30 + 3.60 + 2.90 + 2.30 + 3.20 = 14.30 14. 00
SR, W=45cm, t=1. Omm

FEWr A8 AR X XY

VA X T 3. 50 5 + 3.50 X 7 + 3.50 X 7 = 66.50 67. 00
SR, W=45cm, t=1. Omm

Fii~—7 AR X &Y

ARl ERR [ 16.51 X 6
FEHR, W=30cm, t=1. Omm

99. 06 99. 00




£ iR - IR HE Ef | S WEJEE: TR RIEBELH
AT ENGRI EE R %x1.81
BB TR ES 18.71 34|N=19.0 x 2=38A
E¥E+T IEY
gzl 320 |m3 230 1. 39 3
B RE T IEN
AL R ki 14|m 150 0. 09 0
AL R A 20 )= b7 A7 70 b 1050 |m2 230 4.57 8
AR E - BOA Y)Y =T AT 7V 1050 |m2 150 7.00 13
AL A TAT 7 270 [m2 510 0.53 1
T IEN
SRR T GOF/EBRIEAs (13F) t= 3cm 1320 |m2 2300 0.57 1
AE T Q@ AEBRIFEAs (13)  t= 4cm 1320 |m2 2300 0.57 1
ERAET BT SR (M=40)  t=12cm 1050 [m2 940 1.12 2
TERET AR (RC-40) t=12cm 1050 [m2 940 1.12 2
B EHE T & R t=24cm 1050 |m2 940 1.12 2
X H T IEN
X AR T MR 484|m 1000 0. 48 1
X H R 51k 14|m 550 0.03 0
X iR L R AR 67 |m 550 0.12 0
X H R TE~w—7 99. 00 |m 550 0.18 0






